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FINDING A m9p% FOR THE %195 OF was:y a»»

Fahi~hivd I nlr]
OVERVIEW OF THE X219

I. The 71wn on :v2 teaches that a w27 2717 is 7109. (w2 3"7) 2w
("nos w2 aNY" 5"7) 'oIn
1. >"wA brings a reason: such a 2717 does not fulfill the (320" 7 MOMA" 7"7) 22N MBS

("ona" 3"7) eh T
(MR AR T"T) SBRRT WITR

requirement of ymaxy >op 1.

I11. 'on challenges "wA on two points. The ow1on
bring multiple approaches to defend >"w.

Summary of the gawn

The opening 72» of the third 795 of ;7910 ‘o teaches several %7 of a 295, The
second >7 is that a 257 2975 is »0o.
-"709" means that a w2’ 2979 cannot be used even 7ay°72.

2"we ("wa" a"7) explains the 17 of the mawn — a 2717 must be 277 because of the requirement of
MR *9p A1, A dried-out 2717 is not 175.

'&3n ("109 wa°n 2" 5"7) challenges °"wn on two points:

First, the X3 on -x% will bring a wp>n between 270k and 271° to learn that just as an 270X must
be 177, @ 2912 must be as well. Therefore why is >"wn here bringing an additional reason for this
™77

Second, the requirement of 1Ry *%p 11 only applies a2nno%! An item which does not fulfill the
requirement of this %3 is still 72y>72 7w> (unlike the 17 of 109 in our fawn).

-He says "nom7a" in the X3 on :X* which brought the requirement of 7ax by the

oo nwhw. It says that the reason for this 7 is ymaxy *2p 1. However the 8 na there
notes that this 17 only applies 72rnn3%. On a 72v°72 level, the o°1n '7 are still 2w even if
they are not tied together.
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Therefore on :v2 when the mwn teaches that a w2 2917 is 2109 even 72v°72, how can >"wA say
that the reason is ymaxy *%p 11? This rule only applies 7%mn3%!

(Note: When the w&13 'o1n brings the guestion of 'o1n, he uses the word "jK&75" and not
"mnTo".)

The 2va2n nivs ("wa0n 279 5'7 mpoin" 7"7) suggests a response for >"wA to the two questions of
0.

When the x5 on -R? brings the wp>i7 as the mpn that a w2 2717 is 7109, the om0 M says that
the wp>17 is 2R3 °210 191 1R — not very strong because it has a problem which could undermine it.

The poo says "o nn noo 277 vy 19", He explains: because there is no """ between the two
phrases, one would think the ,o» is separating them and that the requirement of 9777 does not
apply from 310X to 2915,

The only reason that we would know to actually make the wp>n is because of the 592 of
MR *9p a1, which indicates that the 2919 as well has a connection to 27:1. This rule teaches that it
is necessary to connect the items in the ?105 to learn that a 2212 must be 2717.
-According to this explanation, the 575 of ¥Ry *5p 71 is not the 177 P, but rather it is
the o1 that allows the 7wn7 to be made on the pos.

Since the w1 has been established as the 1777 2pn (and the %53 of ymaxy *2p a1 is only coming to
support it), we answer the second question of 'o1n as well. The wp>i1 applies even according to
A

If the true mpn is the wpe, then why does the 05 not include a "" between the two phrases?

The o> nn mo> answers this question from a later X3, which teaches that if the ™" was
included, it would teach that the :mnx must be included in the 7ax with the other three oo1n.
Because this is not so, the 0o does not include a "v".
-The lack of a ™" between the x1n& and 2715 teaches that when the o°1°» are tied together,
the 210X is not included with the other oon.

The 219 7y ("ona" 5"7) approaches the x>ao differently than the o»n nmn3, but he arrives at a
similar answer:
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He cites the suggestion of '01n on -X? that 7770 °21 does not hold of the wp>i1 because he
understands that the requirement of 277 applies to Mo alone. This prevents the wp>i1 from being
made between »nx and 271°.

The 1121 might also be compelled to hold that there is no wp>i7 according to this reasoning.
However the 52> of ymaxy *%p i1 which »"w brings shows that the 271% also has a connection to
7773. This indicates that the wi>13 should in fact be made.

When >"w1 brings the %53 of ymixy *2p 1, it is not because this is the mpn for the 17, but rather
because this reveals that the wp>i1 should be made.

The 29887 sw7on (aaRaw k1" 5"7) brings a different approach to defend *"w= (which is
brought in the o>ann m95 ("'o1na 12now am" 3"7) as well.)

'01n asked: the rule of ymax >2p 11 applies only 7%nn3%, so how can >"wA say that this is the reason
for the 17 of 72v°72 %109 in the mawn on :w2?

The >°xi suggests that there are two levels of ¥R ¥5p 171, one which applies 72022 and one
723072

1. Anitem which is intrinsically not 1771 does not fulfill ymaxy *%p 1. It is invalid even
72372

Included in this is the case of the w21 2917 on :v> - intrinsically it is not beautiful, and
therefore it is 9100,

2. Arequirement which is external to the item will only requires 277 on a 7°nn>% level. On a
723772 level if it lacks 277, it will not be 2ovn.

This would include the requirement of & on :X> - while being a mx» , it is not an integral
part of the o°1>n77 nyaax. Therefore the lack of an 7ax will not cause the o°1°» to be
7272 7109,

This approach differs from '01n on two points:

1. It holds that the rule of y1ax1 >%p 71 is the reason itself that a w27 2915 is 7os.

2. He is wnn that there are two levels of 7777.
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USING INVALID 2%2%1% ON 53w 2% 21° AND 73957 97

OVERVIEW OF THE X9

I. The 73wn on :v3 rules: 2109 w2 5110 2a917 but it does
not specify when this 17 applies.

I1. The x7na teaches that this 1>7 pertains equally to
TWRY 210 av and "aw 2w av.

I11. The owon discuss whether n1°5x w *aw 21w o has
a 17 of nwxa 2w av or oo xw of the an.

N1RIPR INR

mzn' -h 7y "an pos NP iws-n
"7%ays aNan

(nwn, xnbwnu .'l"'f) ’"Wﬂ
(v:m 2% '93) 2'"ann

a3 TR

The 5922 begins: 27 2°00 82 — we learn from the opening 7 of the 72» (the words
"9100 waym 27 2912") that there is no difference between pws 200 2» and

22 oP.

The onwrA discuss whether 01993 5w »aw 2w o has the 0°1°7 of WK 2w a1 or o°»° Axkw. One
difference would be: if the X713 rules that the 17 of "03%" applies on the first day only, would this

apply as well to nv%: 5w *1w 2w ar?

Many o> nwxn (see the »°xn, the w"k1 and the X"av>1) hold that 1% Hw *aw 2w o has the same

0°1°7 as NWRA 20 av.

However the a'an= (v:1 2717 n1973) holds that n1°%a 5w >aw 2w a1 does not have a 17 of

NWRA 210 0.

He writes:

“All of the items which are %05 because of »w, as we explained, or because of
omand ;7221, are 00 only on pwx 2w 0. However they are all 9> on s 2w oy

along with o7 8w, ”
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The mawn 7232 learns: in the 0"anA, the phrase "™w 2w ar" refers to N3 >w *aw 2w av.

From these words it is clear that the o"2nA holds that *xw 2w o is independent of pwxa 210 av
and it shares the o°1>7 of on° "KW

TWO QUESTIONS ON THE 2'"'2%":

QUESTION ONE: What is the status of ny®a »w s 3w a2y and why does
it differ from PwWR" 20 an?

The gawn 7oa% brings a npYonn in the o>waon how to understand the status of n1oa Hw 1w 2w oy:

1. According to one 7% it has the status of 1w 23w o1 in order that there be no %1% to 2w ar.

This opinion would hold that w2 m %17 277% would be 222109 on N3 Hw *1w 2w av.

2. The second opinion holds that it has the status of 7¥1»1 211. Once the calendar was established,
we know with certainty that the first day of 21 o is the correct first day of mw.

Although we still observe “1w 210 a1 (i.e. 12°7°2 1XM2K 37n), it is unnecessary to be 2°nmn for all
the specific o°17 on the second day.

He then brings a second reason to be 27°» on this day: if a person can find only 0°2%1% with o°nin
or that are o°w2°, he might think to be 2°»ma and not use them on the second day. However in this
case, being >nma will lead to a x7p that the person would forfeit the mxn of o> nyaax on this
day.
-(He is ponn between the first day, being Xn>»787 when 0°291% with o°mn cannot be used,
and the second day being 11217 when these o°271% can be used in certain situations.)

The o"an" follows the second opinion.

QUESTION TWO: The 8213 on :u> clearly holds that s 2y 2y has the
same 137 as PRS2 an. How can the a'ans say otherwise?
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The xn3 on -5 brings Py °21 who quotes 2xmw as holding that a 2an 2777 is an after the first
day. He is thus arguing on the opening line of the X723 on :v> that there is no difference between
WX 210 ar and *aw 2w av (i.e. the Xnax holds that a 9 2717 is 2109 on both days).

This is a 2°87 MR nPona. The 2"ann holds like SRnw anR Py °27 on -5 and learns that the 225109
of the mawn apply only on pwx 210 .
In n2%n

The 7w 1= (7:vn20) rules: on N3 W saw 2w av it is 79N to use a wasn 2715, However a 7572
should not be made because of the first opinion cited above which holds that this would be ~ox.

CAN A 931357 a9 AND A wass7 a%1» BE USED AFTER 211 a1
N2RI?

OVERVIEW OF THE RXx® DRIPR X%

xR 57y "am poop Rp'' jb-n
I. The mawn on :v> rules: 100 w2 m 21 2%, The xna "79%2p3 AN
makes a p1>7 that this applies equally to pwxa 210 o
and > 2w or. (am p20op" 7"7) oW

I1. 'o1n explains that the X nx knew to make its P17
because the mwn is written ano without defining the
day(s) on which the 1% applies.

I11. 'on asks two nywp on this. He proposes two
approaches explaining why the X3 made its P17, but
he rejects those as well.

IV. In the end he answers the questions he posed on his
original answer, and so returns to it, holding that the
X7 learned its p1*7 from the ano language of the mawn.

Summary of the gawn and X3

The 7w» teaches: 100 w27 5107 2915.

6
For comments or to receive the complete materials, email michoelgros@gmail.com



mailto:michoelgros@gmail.com

Enhanced Learning Through 210 noon

I 2% — A P
SAMPLE

The 8922 begins: 27 209 82 — we learn from the x*7 of the ;72w» that there is no
difference between nwa7 20 o7 and 2w 20 oy

The phrase "1m P05 Xp" means that the x7na learns this 7577 from an implicit statement in the
mwn.

Question: How is this implied in the mawn?
'o3n ("M pooop" 3"7) explains: the first line of the mawn is written ano, without specifying when

the o>5100 of the awn apply. 'o1n says that the &3 learns from here that the o°1>7 apply to both
days.

'01n asks two questions on this suggestion

'01n asks: e — we have a strong X°wp on this statement! The niwn on :7% records:
XITW 93 q0m 21 [MnK] is 7100, This was stated ono and so it should apply to all seven days.

Yet the xmx on 1% learns that this 17 applies only to w2 21w av. Such an x1nk would be 2w> on
1w 2w 01! The X3 on 1% says:

“N297 027 was 2w v'"a 722 9av» — he dipped his.anx [and ate part of it after using
it on the first day]. Then, 722 2°o2) — he fulfilled his 7¥» [of the subsequent days]
with it.”

We see that although the mawn on :7% was recorded ano (without specification), it only applies to
the first day. This seems to contradict the 773 on :v> which learns that when the mawn is recorded
ano, the o°1°7 apply to all days.

'0In suggests two sources which make the p1»7 applicable to the 13 on ;13 specifically

1. p»7 K1 - '0n suggests a different reason that the xmx knew to make its 1>7 here: Perhaps the
x7n3 learns from the fact that the mawn discusses the status of a 21137 2219 and not a 7xw 2979, A
2 2717 is ox for all the days of m>o and so its inclusion in the mawn indicates that the 017
apply to both wxa 210 2 and "1 210 .
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'0In rejects this answer, pointing out that the x93 makes this exact type of P17 later. It is ynwn to
'D1n that the 8773 does not “know” of this P17 until then. Therefore it cannot be the basis for the
statement of »1n1 p>0d Xp here.

2. 'o1n continues and suggests another possible source for the & nx. He says that by grouping w2
and 21 together, the mawn is showing a commonality between them. This is the way that the &7
knew that the days have the same status.

'01n rejects this answer as well, because the following mawn on :72 also compares two o°7105 of
o°anR. It discusses an amnx with a 2p1 or with a 12192 n1in — undesirable bumps covering a
majority of its skin.

Based on the 7 being considered by 'on, these items should have the same 17, but in fact they
do not. An 310X with a 2p1 is aw> on *aw 2w a1, while an 110k with a n1 is 9109 on all of the
days! This demonstrates that this cannot be the source of the P17 on :v>

1o - '0In says that this question could very well be answered from the »»%w17> 7170, because it
is ynwn that both of these o°9109 apply only on the first day. According to the *nw1-, it seems
that an »1nx with a 2p3 or with a n°rin is 2wa on the subsequent days.

According to the statement of the *n%w1, we see that these two items, which are listed adjacent
to one another, do indeed share the same 7°7. Therefore the x7%3 on :v> could be making its p1*7
from the fact that the mawn lists 9137 2917 next to w23 2775,

However 'o1n concludes: %55 1anon X7 — this 72an is not correct at all. It would assume that a
bitten 210k is 777 (being “w> on the remaining days) and is only invalid because of a separate
2109 of (owmn.

At this point, 'oxn remains with his question of 7»°n. He had given three suggestions of how the
X723 knew to make its p1°7 in the mawn, but he rejected them all.

5"y - 'on returns to his original understanding, that the X3 made its P17 from the nw ano of
the mawn. Now he gives two answers to the guestions he asked initially.

Answer One: &1°117 °27 disagrees with the &7 here. When our k73 learns that the pwxa 21w o1
and °1w 2 oy share the same 1°7, this statement is actually a o°x" K& np1oma. The o°k7nR argue in
how to learn the opening mwn.
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When x1°117 °27 took a bite out of his x1nx, he held that this act did not invalidate it because the
o°705 of the beginning of the 7awn only apply to nwx- 2w av.
-("oIn suggests that x1°a7 °27 learns similarly to Yxww on .5 who also interprets the mawn
differently than does the X3, as he holds that a %17 2912 is “w> on *1w 2w ar.)

The original question of 'o1n was based on the fact that 111 °21 held differently than the x7n3 on
103

'01n tried to resolve this 77°no by bringing alternative o°p1°7 that the &9na could have been
learning from.

However in the answer of 'o1n, we see that it is unnecessary to resolve how X1 °27 acted
differently than the x7n3, because we see that he disagrees with it 73%7%.

This question would also have a 73 &po1 in 7097 as to whether an 2110k that is 2on can be used.
According to this understanding, x1°17 °27 would hold that it is "w>, but the interpretation at the
beginning of the &7 would hold that it is 710s.

Answer Two: 'on explains that 5"in frequently make statements pncann7 Xw2 — at the beginning
of a P70 and use it as a pattern for subsequent nyawn. Thus the mawn on :v> was written ono and
so the other n11wn are written in the same way.

However the fact that the second nawn is written ano is not to teach a message about when its
o°17 apply. Rather it is only written this way to achieve symmetry with the first mawn.

Therefore the X3 on :v> can learn that 1wk 210 o and *1w 210 o are similar because the mawn
is written ono and compares 21137 2912 to w2 291%. When the 7awn on :7% similarly compares
q0m 2p°1 NN, it uses a 7w ano not to learn a p1v7, but rather to simply match the 17w% of the
opening mwn.
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